MATHEMATIQUES

Devoir autocorrigé

Calculer ladérivée des fonctions suivantes et factoriser quand ¢’ est possible.

1.

fonction
f(xX) = x2+2x+1

_ X2+ 3x+1
909 = X+1

h() = é(xtrzl

iX) = y2x+1

J2x+1
X—3

[(X) = x2J/2x+ 1

k(x) =

mx) = x> —2x2 +x+1

fonction
f(x) = x3—4x+1

g(x) = X—33—5x2—4x+1
h(x) = X—33—x2+x+1

3
i) = £ —x2+4x+1

3
i 2
00 = 553
k(x) = 2X—2
x) X2+ x+1

[(X) = (X% + 2X+ 2)?
m(x) = (x> —2x+5)°

Dérivée factorisation
fOX) = 2x+2
Wx) = —L (2x+x2+2
g () x: 1)2( )
) = —— 9
® (5x + 1)?
iD(x) = 1
¥ J2x+1
KD (x) = 1 X+4
0 (x=3)% J2x+1
D) = DX+ 2X = (5X+ 2)X——L
¥ J2x+1 ( ) J2x+1
mP(x) = 3x2 —4x+ 1 =(3Bx-1)(x-1)
Dérivée factorisation
(1) _ ay2 - _ 2 2
fH(x) = 3x* -4 = 3(x ﬁ)(x+ﬁ)
gP(x) = (X2 — 10x— 4) = (X-=5+4J29)(x-5-J29)
hW(x) = x2—2x+1 = (x—1)2

DX = (X2 -2x+4)

2x+ <+ +/13)(x+ 1 - 1/13)

W) = — 2 2 _

R (Zx+1)2(x+x 3) 1)

kD (x) = _2A¢ -2 _ 2Azx=1-y3)(x-1+43)
(x+x2+1)* (X+x2+1)°

ID(X) = 42X+ X2 + 2)(Xx+ 1)
MmD(x) = 6(x2 — 2x+ 5)%(x— 1)



